75,0

70,0

65,0

60,0

55,0

50,0

45,0

40,0

Temperaturverlauf V1 V2

1. Umsetzung 04.05
2. Umsetzung 25.05
3. Umsetzung 16.06

=@ \/1 Kern
= @== \/1 Basis
=== \/2 Kern

== Q== \/2 Basis

14. 16. 18. 20. 22. 24. 26. 28. 30. 02. 04."06. 08. 10. 12. 14. 16. 18. 20. 22. 24. 26. 28. 30. 01. 03. 05. 07. 09. 11. 13. 15.
Apr Apr Apr Apr Apr Apr Apr Apr Apr Mai Mai Mai Mai Mai Mai Mai Mai Mai Mai Mai Mai Mai Mai Mai Jun Jun Jun Jun Jun Jun Jun Jun

14.15.18.19.20.21.22.25.26.27.28.29.02.03.04.06.09.10.11.12.13./17.18.19. 20.23.124.25.26.27.30.31.
01.02.03.06.07.08.09.10.13.14.15.16.
Arp Arp Arp Arp Arp Arp Arp Arp Arp Arp Arp Arp Ivilalvilalvilalvilal\/ila IViIa IViIa IViIa IViIa IViIa IViIa NilaNilaNiIaNilaNilaNilaNilaNilaNiIaJunJunJunJunJunJunJunJunJunJunJunJun

-—Q==\/1 Kern 49,49,57,61, 62, 64, 64, 65, 65, 64, 64, 64, 65, 65, 64,57,70,70,71,72,72,68, 68,69, 68, 68,68, 66,55,57,63,63,63,64,64,62,62,62,62,62,62,62,62,62,
== @== \/1 Basis 44,45,54,54,54,56,57,58,59,59, 58,59, 60, 59, 60, 58, 64, 65, 66, 66, 67, 66, 65, 65, 62, 60, 59, 58, 47, 50, 56, 57,57, 59, 58, 58,59, 59,59, 60, 60,59, 59, 59,
-—@—=\/2 Kern 40,47,62,66, 66,67, 68, 68, 68, 68, 68, 67, 69, 69, 68,59, 68, 70,70, 71,71, 70,70,71, 70, 69, 69, 68, 56, 58, 64, 65, 65, 66,67, 66,66, 66,66, 66, 66,66, 66, 66,
== 0== V2 Basis 40,43,54,58,59,61,62,63,64,63,63,64,64,63,63,57,61, 63,64,65,67,64,63,63,61,59,58,58,52,55,60,61, 60,61, 61, 60,60, 60, 60,61, 60,59,59, 58,



